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4 W\ By Y —257 5,911 Yard Par 72
TOTAL | #EfE | TOTAL NET_. TOTAL | JEf: |TOTAL| NET
FHE &5
231 1 249 4 2170 1
- K& ouT| IN |TOTAL|HDGP| NET | K % ouT| IN |TOTAL|HDCP| NET
R U B ¥ 39 | 36 75 *| 24 |726 ## W - X 42 | 40 82 *| 60 |76.0
" OHF B 7 37 | 39 76 *| 24 736 v B — K 40 | 43 83 *| 108 [72.2*
L - 39 | 41 80 *| 36 |764 B @ X 45 | 39 | 84 * 108 |732*
E B B % 45 | 42 87 | 84 |786 | |E M ES 43 | 43 | 86 | 144 |716*
] TOTAL | ¥E{Z T(')TAL': NET TOTALB[EEE TOTAL | NET
- — M
240 | 2 ’ 249 5 |2238| 3
o £ OUT | IN |TOTAL |HDGP| NET K £ lout!| IN |ToTAL|HDCP| NET
A+ A F X 41 | 36 77 *| 1.2 |75.8 & A& H B 36 | 40 76 *| 48 [71.2%
B H & =x 39 | 42 81 % 96 |714 & = B 44 | 40 84 *| 96 [744*
g2 A #® B 41 | 41 82 % 84 |736 a % - 45 | 44 89 *| 10.8 |782*
s X M 5 45 | 43 88 | 144|736 O 46 | 53 99 | 16.8 |82.2
TOTAL !i'_[ﬁ_{ﬁ: TOTAL | NET TOTAL | ¥A{Z TOTAL VNETT
FHE =R
246 3 254 6 (2252 6
K 4 OUT | IN |TOTAL HDCP| NET K £ ouT| IN |TOTAL HDCP] NET
m | & - 40 | 40 | 80 *| 36 |764 % X - W 43 | 40 | 83 *| 96 |734%
X & E ¥ 40 | 41 81 *| 6.0 |750 Ll 553 43 | 42 | 85*| 84 |786*
B - =2 40 | 45 85 *| 108 |74.2 - F H# = 43 | 43 86 *| 108 |75.2*
M R & 45 | 44 89 | 132|758 - - 49 | 46 95 | 12.0 |830°




X WX P TINTZ KRETOR Y Eoo#H &
i 2015411 H13 & H
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TOTAL | WEfE | TOTAL | NET TOTAL | JE# | TOTAL| NET
xR FHED '
254 7 12264 7 261 10 2238 4
N £ %  lout| ™ |ToTAL|HDCR| NET E £ ouT | IN |TOTAL |HDCP| NET !
® B OB # 40 | 40 80 *| 60 |740*| B H ®B K 40 | 40 80 *| 6.0 |740*
i E £ 41 1 41 82 *| 60 |760* A R &K & 45 | 43 88 *| 144 |736*
M H B OB X 45 | 41 92 *| 156 [764%* | (W B W = 46 | 47 93 *| 168 |76.2*
B % B £ 53 | 46 99 | 16.8 |82.2 |
TOTAL | lEf | TOTAL| NET TOTAL | JB{Z | TOTAL| NET
BRI il
256 8 12290 9 262 | 11 12234 2
B % ouT| IN |TOTAL [HDcP| NET K % out| N [ToTAL|vDCR| NET
= M| % 42 | 38 80 *| 7.2 |72.8* B X £ =B 42 | 42 84 *| 48 |792
M A B X |48 | 38| 86% 84 |776% | B X T 42 | 46 | 88 *| 120 |760*
ES T M 47 | 43 90 *| 10.8 |79.2 % K B *x 43 | 47 90 *| 204 |696*
B B {E 49 | 50 99 | 204 |786* IR &2 & 4 | 47 91 | 132 1778*
TOTAL | IBfii | TOTAL | NET TOTAL | WAfE | TOTAL | NET
ARZEA 14>}
261 9 [(2346| 13 264 | 12 (229.2] 10
E & OUT | IN |TOTAL HDCP| NET K 4 QUT | IN [TOTAL|HDCP| NET
p 2 — 8 39 | 44 83 *| 48 |782* | |¥E W E B | 43 | 44 87 *| 108 | 76.2*
B # B & & 43 | 42 85 *| 72 |718% - iR 47 | 41 88 *1 108 |77.2%
E OH B X 48 | 45 | 93*| 144 786* |8 [ 1# 43 | 46 | 89 % 132|758"
oW Fx B 54 | 43 97 | 156 {814 - 4 45 | 48 93 | 13.2 798
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""" TOTAL | IBfiz | TOTAL | NET roraL | s | roraL| Ner |
- = - -
' 267 | 13 2244| 5 ! 273 | 16 |233.4| 12
% A out| IN [TOTAL [HDGE| NET K 4 OUT| IN |TOTAL HDCP| NET |
B OB ik 45 | 38 83 *| 108 [72.2* | |Bk & i} 43 | 44 87 % 96 |774*
£ H B B 44 | 43 87 *| 132 (738* | |k O & 2z B 46 | 46 | 92 *| 156 [764% |
WM o@a B = 45 | 52 97 *| 18.0 |79.0 h & F i3 47 | 47 94 *| 144 |796*
= W C | 44 | 56 | 100 | 216 |784*
TOTAL | JEfz | TOTAL NE.'I."” TOTAL | WE#Z | TOTAL| NET '_
KHEF ) ARZEB .
271 14 12350 14 275 17 [228.2| 8
K % out! i !ToTAL|HDGP! NET K % OUT | IN |TOTAL |HDGP| NET
YA (3 B 42 | 47 89 *| 10.8 {782* R Lt BA 44 | 4% 90 *| 108 |792*
A B E A& 46 . 45 | 91 *| 13.2 |778* AU N 44 | 47 91 *| 204 ,706*
'O Gl 45 | 46 91 *| 120 |79.0* 7 OB = B 45 | 49 94 *| 156 |784*
B & i 45 | 47 92 | 120800 |
| ToTAL| g |ToTAL| NeT | | | TotaL| i | ToTAL NET |
TH FHEB '
21 15 (2326, 11 277 18 |235.0| 15
E £ toutr| N [ToTAL|HDCP| NET R 4 ouT| IN |TOTAL|HDCP! NET
® B B ® 7 30 | 40 79 *| 84 |706* X B B % 43 | 43 86 *| 96 |764*
T % E — & 43 | 44 93 *| 10.8 |82.2* E R B B 43 | 46 8% *| 9.6 |794%
Bk Bh B 51 | 48 99 *1 168 (822 | | % H = 50 | 52 | 102 *| 228 79.2*
I F ® 49 | 50 99 | 19.2 |79.8*




